Installation Instructions
74 H W E

Application i Jfj 5i % @

Suzuki Swift Sport ZC33S '17-present

Components N & fd {4 °¢
(@ Stabilizer bar AR5 1pcs
(2) Upper bracket-RH Ll 28-5 1pcs
(® Upper bracket-LH Ll 28-7 1pcs
@ Lower bracket-RH Fif222-4 1pcs
(® Lower bracket-LH TSz Z2-A& 1pcs
® Nut 218 (M12x1.25-19x12) 4pcs
(D Nut #2118 (M10x1.25-14x9) 6pcs
Washer #5] (24x13x2.6) 4pcs
(9 Washer #75] (20.8x10.7x2) 2pcs

Caution = $HI1H

eInstallation is recommended to be performed by licensed mechanics with necessary tools
to ensure safety. Incorrect installation may cause injury, damage to the product or vehicle.
ZERBZZAGHEORMETERNTURRZE - ZRERIUEHAS ERREREMESE -

«Note the routing of wires and cables before installation, or please refer to factory manual.
ZERABELR FEBNZRBRERMBENERSRHLE - BRBRBESEREFM -

Tighten bolts and nuts frimly by using handtools, and with specified torque if mentioned.
ZRBEFECAFH T ERBHRIBERES - AR BIRFKEBRBERAE LH -

Instructions %z #& 3t B

1. Remove rear shock absorber lower bolts to insert supplied upper
brackets, then reinstall the shock absorbers.(See figure 1)
RHERESHBRAE NMERER £/A £ TRERREZED -
(2EEE)

Note &7~

Support rear axle with a jack stand toavoid springs from poping
out.
IFENBAARIR AT TIREERE - DRIEESEL -

2. Assemble supplied lower brackets to both ends of stablilizer bar
using supplied M10 nuts.(See figure 2)
ERECH M10 1218 - i /A MR HEEHEREESWA -
(Z2EEERD)

3. Install lower brackets to upper bracket studs using supplied M10 &
M12 nuts and washers. (See figure 2)
EREH M10 & M12 BB RZES] - # £/A PR BER /A L% 5
RIEAE - (2EBEERD)

Torque Specification L#HN1E

M10X1.5: 80Nm
M10X1.25: 8O0Nm
Shock absorber i#ZE&: 100Nm

IlIstration of installed state
ZEEHARE

REAR ADD-ON SWAY BAR
BMFEILGIER - 17MM
#Q0338

M10 NUT
M10 WASHER

M12 NUT
M12 WASHER




